Multiplication par Puissances de Dix (C)

48 x 10*

72 x 1072

80 x 1072

40 x 102

10 x 101

72 % 10?1

36 x 1072

89 x 103

31 x 10*

70 x 101

Trouvez chaque produit.

37 x 102

= 24 x 10% =

= 64 x 10 =

= 99 x 10' =

42 x 102

51 x 103

15 x 107

81 x 10!

= 45 x 10 =

= 29 x 10 =
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Multiplication par Puissances de Dix (C) Solutions

Trouvez chaque produit.

48 x 10 = 480 37 X 102 =3 700
72 x 10* =7 200 24 x 10* =2 400
80 x 10 =8 000 64 x 10" = 640
40 x 102 =4 000 99 x 10* =990
10 x 10* =100 42 x 10> =4200
72 x 10' =720 51 x 10° =51 000
36 X 10 =3 600 15 x 10* =150
89 x 10° =89 000 81 x 10' =810
31 x 10' =310 45 x 10' = 450
70 x 10* =700 29 x 10* =290
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